
    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

38آن  58آن    



    

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

200 250 300 

563 674 785 

 محیط

 بی شمار

5+0+0+300  

 صفر

 دهگان

6083 

18 
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 پاسخنامه



38آن  58آن    

6 8 6 

8 24 45 9
- - 

03 00 

2000=50×40  

11 11 22 

400=20×20  

4 7 28 

6542 2456 
6542 
2456 
4086 

- 

خودش× طول یک ضلع  = مساحت مربع  

عرض(+طول ) × 2  =مستطیلحیط م  

(350+ 180) × 2  = متر1060  

عرض×طول  = ستطیلمساحت م  
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